
Time: 40 Minutes Paper Math 3 Total Marks: 25

2nd Month, 4th Week, 6th Day Syllabus: Monthly Test. Unit 2

Q.1. Choose the correct option and fill in the blanks. (1.5×4=6)

ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzgggg{{{{àààà((((%%%%ææææFFFFNNNN™™™™,,,,XXXX

(i) Sum of 1564 and 7325 is ______________.

»»»»ùùùù····ììììXXXX 7325 ZZZZzzzzgggg 1564

(a) 8888 (b) 8889 (c) 8899 (d) 8886

(ii) Difference of 6351 and 1265 is ______________.

ììììXXXX ______________ »»»»����ÛÛÛÛtttt 1265 ZZZZzzzzgggg 6351

(a) 5056 (b) 5076 (c) 5086 (d) 5096

(iii) By multiplying 12 by 1, we get ______________.

MMMMììììXXXX ______________ ÐÐÐÐ¢¢¢¢[[[[ŠŠŠŠ,,,,ÂÂÂÂ 1ÃÃÃÃ 12

(a) 13 (b) 112 (c) 12 (d) 14

(iv) By dividing 24 by 6, we get ______________.

qqqqÝÝÝÝƒƒƒƒ@@@@****ììììXXXX ______________ ÐÐÐÐ„„„„™™™™,,,,ÂÂÂÂ 6ÃÃÃÃ 24

(a) 4 (b) 5 (c) 6 (d) 7

Q.2. Solve the following. (10) ŠŠŠŠgggg̀`̀̀ffffssssÃÃÃÃiiii™™™™,,,,XXXX

(i) 6 7 9 5 (ii) 8 5 4 3

+ 2 1 0 2 – 3 6 5 4

(iii) 5 4 (ii) 72  –  8  –

× 9

Q.3. If the price of 1 colour pencil is Rs.8. How many colour pencils can be

bought in Rs. 48? (5)

ggggzzzz9999~~~~XXXX&&&&4444hhhhÓÓÓÓ4444èèèè FFFFEEEEGGGGWWWWNNNNÏÏÏÏ???? 48 ggggzzzz9999ƒƒƒƒÂÂÂÂ 8 ZZZZ¤¤¤¤////ZZZZqqqq----RRRRÅÅÅÅ7777

Q.4. Solve mentally. (1.5×4=5) ÕÕÕÕiiiiÅÅÅÅææææŠŠŠŠÐÐÐÐiiii™™™™,,,,XXXX 6666ffff

(i) 15 + 16 =                        (ii) 87 – 36 =                        

(i) 5 × 7 =                        (ii) 9 @ 3 =                        
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